3528 Emer Street PRODUCT

I
17975 K rllmn CA900230277 1233 .
SHT 1 OF 1 923),26 WIWETICOBONEOM | F| OOR STOP

MadT¥0atriMCcObbiVEOM

15/32 —==1 |—
7 —
o 7/8
) i
2 3/4
J U f J L
(f 1) ’ [ [ ]
3/16

@/@ 1 12/32
\ l

SUPPLIED WITH ONE (1) 5/16-18 LEAD ANCHOR, ONE (1) 1/4-20 LEAD ANCHOR,
ONE (1) 1/4-20 X 1" FLAT HEAD, PHILLIPS DRIVE MACHINE SCREW, ONE (1) 1/4 X1" FLAT HEAD,
PHILLIPS DRIVE WOOD SCREW, ONE (1) 5/16-18 X 2" THREADED STUD, ONE (1) 5/16 X 1-1/2"
HANGER BOLT AND ONE (1) 1/4" PLASTIC BANTUM

NOTE: This template is provided for use only on the job for which is was requested.

Trimco reserves the right to make design changes without notice. Trimco will
not be responsible for errors or damage caused by the use of out-of-date templates. 12/19/06




	Drawing - 17975 - Sheet:1

